
800.299.9600
www.thinkroadmaster.com

Medium Duty Simulators

Spare Parts
Jam Nuts / Lug nut covers

Part 
Number Size

Wheel 
Simulator

266 20mm Thread,
30mm Hex Jam nut 244S-OL

269 22mm Thread, 
30mm Hex Jam nut 245S-OL

272 9/16” Thread Jam 
nut  

236ES-OL
236NS-OL 
246ES-OL 

276 ¾” Thread Jam nut 238ES-OL

287 M14 x 1.5” Thread 
Jam nut 

236ES-OL
246ES-OL 

288 M14 x 2”  Thread 
Jam nut 

236ES-OL
246ES-OL 

273T 22mm Thread, 
41mm Hex Jam nut 231S-OL 

274T 20mm Thread, 
41mm Hex Jam nut  232S-OL 

258SJN 7/8” x M14 Thread,
1-1/8” Hex Jam nut 258S-OL 

291SJN 7/8” x M14 Thread,
1-1/8” Hex Jam nut 291S-OL 

296SJN 22mm Thread,
41mm Hex Lug nut 296S-OL

296SLN 5/8” Hex Lug nut 296S-OL

Phoenix Emblem Sticker

297LG Phoenix Emblem
Sticker 

Tools 

Part  
Number Size

Wheel 
Simulator

264T  41mm Hex nut 
231S-OL
232S-OL 

265T  1-1/8” Hex Nut 

234ES-OL
236NS-OL
238ES-OL
246ES-OL
257S-OL

267T 5/16” Removal tool 
235ES
240ES 

268T 5/16” Allen Wrench 238ES-OL

270T 30mm Hex Nut 
244S-OL
245S-OL

258STL 1-1/8” Hex 258S-OL 

291STL 1-1/8” Hex 291S-OL 

296STL 1-5/8” Hex 296S-OL

Extenders 

Part  
Number Size

Wheel 
Simulator

277
9/16” LH stud inner 
thread, 3/4” RH 
Outside thread 

238S-OL

258STX 1” Inner thread, 7/8”
Outside thread 258S-OL 

291STX 1” Inner thread, 7/8”
Outside thread 291S-OL 



800.299.9600
www.thinkroadmaster.com

W
heel A

ccessories
Heavy Duty Simulators

Spare Parts
22.5” & 24.5” Under the Lug Simulators 

Hub Cap 

Part  
Number Size

250S-1 Front Hub Cap for UL 
Simulators 

22.5” Over the Lug Simulators 

Tool 

Part  
Number Size

271T 33mm Hex Nut 

Adaptor Caps 

Part  
Number Size

282  7/8” 

281 1”

275 1-1/4” 

Jam nuts 

Part  
Number Size

278 M22.5 x 1.5” X 28.5mm

284 M22.5 x 1.5” X 34.5mm

Universal Quick Mount Wheel Covers 

Liners

Part  
Number Size

297F1 22.5 Front Liner for 297-QM

299R1 22.5 Front Liner for 299-QM

297EX Expansion Ring for 297-QM 
and 299-QM 

297TL Tool for 297-QM and 299-QM 

297SPS Pop off Cap for 297-QM AND 
299QM 

297HD Hardware for 297-QM and 
299-QM

Air Valve Extensions 

Part  
Number Size

299-AVXL
24” long straight SS braided 
valve extensions hose for the 
rear inner wheel

299-AVXS
15” long SS braided valve 
extension hose with angled 
end for the rear outer wheel

Phoenix Emblem Sticker 

Part  
Number

297LG Phoenix Emblem Sticker 


